Bid Tabulation - Schedule A

Waterine Construction Materials for the BlueOval SK & KCTCS Waterline Extension Thursday, January 12, 2023, 10:30 am

Base Bid - US Domestic Material				Cor	re & Main			Н	ayes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" Butterfly Valve, MJ	2	EA	Mueller	7,933.32	15,866.64	12-14 weeks	Various	8,327.84	16,655.68	24-30 weeks	MH	5,340.00	10,680.00	10-12 weeks
16" Butterfly Valve, MJ	3	EA	Mueller	4,863.36	14,590.08	12-14 weeks	Various	5,109.28	15,327.84	24-30 weeks	MH	3,685.43	11,056.29	10-24 weeks
12" Gate Valve, MJ	8	EA	Mueller	2,828.39	22,627.12	Stock to 26	AFC	2,850.00	22,800.00	Stock to 4 weeks	Kennedy	2,888.00	23,104.00	2-16 weeks
8" Gate Valve, MJ	4	EA	Mueller	1,433.59	5,734.36	Stock to 26	AFC	1,440.00	5,760.00	Stock to 4 weeks	Kennedy	1,465.00	5,860.00	2-16 weeks
6" Gate Valve, MJ	3	EA	Mueller	899.56	2,698.68	Stock to 26	AFC	905.00	2,715.00	Stock to 4 weeks	Kennedy	923.00	2,769.00	2-16 weeks
4" Gate Valve, MJ	1	EA	Mueller	705.69	705.69	Stock to 26	AFC	709.00	709.00	Stock to 4 weeks	Kennedy	714.00	714.00	2-16 weeks
4" Tapping Valve	2	EA	Mueller	890.28	1,780.56	Stock to 26	AFC	890.00	1,780.00	Stock to 4 weeks	Kennedy	900.00	1,800.00	2-16 weeks
4" x 4" Tapping Sleeve	2	EA	Romac	648.97	1,297.94	2 weeks	Ford	575.00	1,150.00	2 weeks	Ford	740.43	1,480.86	2-16 weeks
2" Air Release Valve	3	EA	APCO	589.00	1,767.00	18-20 weeks	DeZurik	575.00	1,725.00	18-20 weeks	NO BID	NO BID	NO BID	NO BID
Fire Hydrant	3	EA	Mueller	3,177.98	9,533.94	26 weeks	AFC	3,120.00	9,360.00	Stock to 4 weeks	Kennedy	3,015.29	9,045.87	2-16 weeks
20"x16" MJ Tee	2	EA	Sigma/Star	3,224.36	6,448.72	2-4 weeks	Various	3,124.63	6,249.26	Stock to 16 weeks	Star	3,242.00	6,484.00	2-16 weeks
20"x8" MJ Tee	2	EA	Sigma/Star	2,005.81	4,011.62	2-4 weeks	Various	1,943.77	3,887.54	Stock to 16 weeks	Star	2,017.00	4,034.00	2-16 weeks
20"x16" MJ Reducer	1	EA	Sigma/Star	1,172.91	1,172.91	2-4 weeks	Various	1,136.63	1,136.63	Stock to 16 weeks	Star	1,179.00	1,179.00	2-16 weeks
20"x12" MJ Reducer	1	EA	Sigma/Star	1,080.11	1,080.11	2-4 weeks	Various	1,046.71	1,046.71	Stock to 16 weeks	Star	1,086.00	1,086.00	2-16 weeks
20" MJ 90 Bend	1	EA	Sigma/Star	2,256.06	2,256.06	2-4 weeks	Various	2,186.28	2,186.28	Stock to 16 weeks	Star	2,268.00	2,268.00	2-16 weeks
20" MJ 45 Bend	3	EA	Sigma/Star	1,477.16	4,431.48	2-4 weeks	Various	1,431.48	4,294.44	Stock to 16 weeks	Star	1,485.00	4,455.00	2-16 weeks
20" MJ 22 Bend	1	EA	Sigma/Star	1,567.69	1,567.69	2-4 weeks	Various	1,519.20	1,519.20	Stock to 16 weeks	Star	1,576.00	1,576.00	2-16 weeks
20" MJ 11 Bend	1	EA	Sigma/Star	1,544.10	1,544.10	2-4 weeks	Various	1,496.34	1,496.34	Stock to 16 weeks	Star	1,552.00	1,552.00	2-16 weeks
16" MJ Plug	1	EA	Sigma/Star	683.06	683.06	2-4 weeks	Various	661.93	661.93	Stock to 16 weeks	Star	686.00	686.00	2-16 weeks
16"x10" MJ Tee	2	EA	Sigma/Star	1,353.19	2,706.38	2-4 weeks	Various	1,311.33	2,622.66	Stock to 16 weeks	Star	1,360.00	2,720.00	2-16 weeks
16"x10" MJ Reducer	2	EA	Sigma/Star	676.97	1,353.94	2-4 weeks	Various	656.03	1,312.06	Stock to 16 weeks	Star	680.00	1,360.00	2-16 weeks
12"x8" MJ Tee	3	EA	Sigma/Star	527.89	1,583.67	2-4 weeks	Various	511.56	1,534.68	Stock to 16 weeks	Star	530.00	1,590.00	2-16 weeks
12"x6" MJ Tee	3	EA	Sigma/Star	499.75	1,499.25	2-4 weeks	Various	484.29	1,452.87	Stock to 16 weeks	Star	502.00	1,506.00	2-16 weeks
12" MJ 45 Bend	4	EA	Sigma/Star	429.77	1,719.08	2-4 weeks	Various	416.48	1,665.92	Stock to 16 weeks	Star	432.00	1,728.00	2-16 weeks
12" MJ 11 Bend	1	EA	Sigma/Star	346.10	346.10	2-4 weeks	Various	335.40	335.40	Stock to 16 weeks	Star	348.00	348.00	2-16 weeks
12" MJ Plug	3	EA	Sigma/Star	263.19	789.57	2-4 weeks	Various	255.05	765.15	Stock to 16 weeks	Star	264.00	792.00	8-20 weeks
10"x8" MJ Reducer	2	EA	Sigma/Star	199.29	398.58	2-4 weeks	Various	193.13	386.26	Stock to 16 weeks	Star	200.00	400.00	8-20 weeks
10" MJ Cross	1	EA	Sigma/Star	652.63	652.63	2-4 weeks	Various	632.45	632.45	Stock to 16 weeks	Star	656.00	656.00	8-20 weeks
10" MJ 90 Bend	1	EA	Sigma/Star	374.24	374.24	2-4 weeks	Various	362.66	362.66	Stock to 16 weeks	Star	376.00	376.00	8-20 weeks
10" MJ 45 Bend	2	EA	Sigma/Star	248.74	497.48	2-4 weeks	Various	241.05	482.10	Stock to 16 weeks	Star	250.00	500.00	8-20 weeks
10" MJ 22 Bend	6	EA	Sigma/Star	240.37	1,442.22	2-4 weeks	Various	232.93	1,397.58	Stock to 16 weeks	Star	241.00	1,446.00	8-20 weeks
8" MJ 22 Bend	2	EA	Sigma/Star	168.87	337.74	2-4 weeks	Various	163.64	327.28	Stock to 16 weeks	Star	169.00	338.00	8-20 weeks
8" MJ Plug	2	EA	Sigma/Star	126.27	252.54	2-4 weeks	Various	122.36	244.72	Stock to 16 weeks	Star	127.00	254.00	8-20 weeks
16" Foster Adapter w/ Accessory Kit	1	EA	Infact	466.98	466.98	Stock to 2 weeks	Various	442.06	442.06	Stock to 16 weeks	Star	544.00	544.00	2-16 weeks
12" Foster Adapter w/ Accessory Kit	7	EA	Infact	247.20	1,730.40	Stock to 2 weeks	Various	231.53	1,620.71	Stock to 16 weeks	Star	258.00	1,806.00	2-16 weeks
8" Foster Adapter w/ Accessory Kit	2	EA	Infact	159.29	318.58	Stock to 2 weeks	Various	147.32	294.64	Stock to 16 weeks	Star	178.00	356.00	2-16 weeks
6" Foster Adapter w/ Accessory Kit	3	EA	Infact	109.84	329.52	Stock to 2 weeks	Various	99.95	299.85	Stock to 16 weeks	Star	122.00	366.00	2-16 weeks
4" Foster Adapter w/ Accessory Kit	1	EA	Infact	87.86	87.86	Stock to 2 weeks	Various	79.95	79.95	Stock to 16 weeks	Star	99.00	99.00	2-16 weeks
20" Mechanical Joint Restraint w/ Accessories	32	EA	EBAA	426.74	13,655.68	4-6 weeks	Various	405.34	12,970.88	Stock to 16 weeks	Star	410.00	13,120.00	2-16 weeks
16" Mechanical Joint Restraint w/ Accessories	20	EA	EBAA	248.62	4,972.40	4-6 weeks	Various	249.84	4,996.80	Stock to 16 weeks	Star	258.00	5,160.00	2-16 weeks

Bid Tabulation - Schedule A

Waterine Construction Materials for the BlueOval SK & KCTCS Waterline Extension Thursday, January 12, 2023, 10:30 am

Base Bid - US Domestic Material				Со	re & Main			ŀ	layes Pipe			Fe	rguson	
12" Mechanical Joint Restraint w/ Accessories	45	EA	EBAA	150.48	6,771.60	Stock to 2 weeks	Various	148.59	6,686.55	Stock to 16 weeks	Star	155.00	6,975.00	2-16 weeks
10" Mechanical Joint Restraint w/ Accessories	37	EA	EBAA	142.97	5,289.89	Stock to 2 weeks	Various	112.43	4,159.91	Stock to 16 weeks	Star	117.00	4,329.00	2-16 weeks
8" Mechanical Joint Restraint w/ Accessories	17	EA	EBAA	84.18	1,431.06	Stock to 2 weeks	Various	77.68	1,320.56	Stock to 16 weeks	Star	81.00	1,377.00	2-16 weeks
6" Mechanical Joint Restraint w/ Accessories	9	EA	EBAA	62.85	565.65	Stock to 2 weeks	Various	58.94	530.46	Stock to 16 weeks	Star	62.00	558.00	2-16 weeks
4" Mechanical Joint Restraint w/ Accessories	10	EA	EBAA	49.28	492.80	Stock to 2 weeks	Various	46.76	467.60	Stock to 16 weeks	Star	48.00	480.00	2-16 weeks

Total Base Bid - US Domestic Materials Core & Main \$149,863.60 Stock to 26 weeks Hayes Pipe \$147,852.61 24-30 weeks Ferguson \$139,014.02 10-24 weeks

Alternate A Bid				Co	re & Main			ŀ	Hayes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" PVC, C900, DR-18	7,900	LF	Dist. Appr.	108.89	860,231.00	4 weeks	Various	108.91	860,389.00	4-6 weeks	Diamond	110.75	874,925.00	8-12 weeks
12" PVC, C900, DR-18	5,700	LF	Dist. Appr.	44.94	256,158.00	4 weeks	Various	44.96	256,272.00	4-6 weeks	Diamond	45.60	259,920.00	Stock
10" PVC, C900, DR-18	60	LF	Dist. Appr.	31.92	1,915.20	4 weeks	Various	31.93	1,915.80	4-6 weeks	Diamond	36.00	2,160.00	Stock
6" PVC, C900, DR-18	40	LF	Dist. Appr.	12.40	496.00	4 weeks	Various	12.35	494.00	Stock	Diamond	24.00	960.00	Stock
4" PVC, C900, DR-18	40	LF	Dist. Appr.	6.07	242.80	4 weeks	Various	6.04	241.60	Stock	Diamond	14.00	560.00	Stock

Total Alernate A Bid Core & Main \$1,119,043.00 4 weeks Hayes Pipe \$1,119,312.40 4-6 weeks Ferguson \$1,138,525.00 8-12 weeks

Total Project Schedule A = Base Bid + Alternate A = Core & Main \$1,268,906.60 Hayes Pipe \$1,267,165.01 Ferguson \$1,277,539.02

Total Project Schedule A Lead Time with Alernate A = Core & Main Stock to 26 weeks Hayes Pipe 24-30 weeks Ferguson 10-24 weeks

Alternate B Bid				Co	ore & Main			ŀ	layes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" Ductile Iron Pipe, Class 250	7,900	LF	US Pipe	95.43	753,897.00	7-8 months	US Pipe	96.33	761,007.00	7 months	McWane	101.00	797,900.00	20-40 weeks
12" Ductile Iron Pipe, Class 250	5,700	LF	US Pipe	48.45	276,165.00	7-8 months	US Pipe	51.63	294,291.00	52 weeks	McWane	51.00	290,700.00	20-40 weeks
10" Ductile Iron Pipe, Class 250	60	LF	US Pipe	40.47	2,428.20	7-8 months	US Pipe	43.13	2,587.80	Stock to 24 weeks	McWane	40.00	2,400.00	20-40 weeks
6" Ductile Iron Pipe, Class 250	40	LF	US Pipe	24.00	960.00	7-8 months	US Pipe	25.58	1,023.20	Stock to 12 weeks	McWane	25.50	1,020.00	20-40 weeks
4" Ductile Iron Pipe, Class 250	40	LF	US Pipe	35.24	1,409.60	7-8 months	US Pipe	37.59	1,503.60	24-32 weeks	McWane	37.00	1,480.00	20-40 weeks

 Total Alternate B Bid
 Core & Main
 1,034,859.80
 7-8 months
 Hayes Pipe
 1,060,412.60
 52 weeks
 Ferguson
 1,093,500.00
 20-40 weeks

Total Project Schedule A = Base Bid + Alternate B = Core & Main \$1,184,723.40 Hayes Pipe \$1,208,265.21 Ferguson \$1,232,514.02

Total Project Schedule A Lead Time with Alernate B = Core & Main 28-32 weeks Hayes Pipe 52 weeks Ferguson 20-40 weeks

Bid Tabulation - Schedule B

Waterine Construction Materials for the BlueOval SK & KCTCS Waterline Extension Thursday, January 12, 2023, 10:30 am

Base Bid - Import Materials				Coi	re & Main			Н	ayes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" Butterfly Valve, MJ	2	EA	Mueller	5,823.36	11,646.72	6-8 weeks	Various	4,915.47	9,830.94	16-20 weeks	Kennedy	5,340.00	10,680.00	10-24 weeks
16" Butterfly Valve, MJ	3	EA	Mueller	3,852.40	11,557.20	4-6 weeks	Various	3,246.40	9,739.20	16-20 weeks	Kennedy	3,685.00	11,055.00	10-24 weeks
12" Gate Valve, MJ	8	EA	Mueller	2,828.39	22,627.12	Stock to 26 weeks	AFC	2,850.00	22,800.00	Stock to 4 weeks	Kennedy	2,888.00	23,104.00	2-20 weeks
8" Gate Valve, MJ	4	EA	Mueller	1,433.59	5,734.36	Stock to 26 weeks	AFC	1,440.00	5,760.00	Stock to 4 weeks	Kennedy	1,465.00	5,860.00	Stock
6" Gate Valve, MJ	3	EA	Mueller	899.56	2,698.68	Stock to 26 weeks	AFC	905.00	2,715.00	Stock to 4 weeks	Kennedy	923.00	2,769.00	Stock
4" Gate Valve, MJ	1	EA	Mueller	705.69	705.69	Stock to 26 weeks	AFC	709.00	709.00	Stock to 4 weeks	Kennedy	714.00	714.00	Stock
4" Tapping Valve	2	EA	Mueller	890.28	1,780.56	Stock to 26 weeks	AFC	890.00	1,780.00	Stock to 4 weeks	Kennedy	900.00	1,800.00	Stock
4" x 4" Tapping Sleeve	2	EA	Romac	648.97	1,297.94	2 Weeks	Ford	575.00	1,150.00	2 Weeks	Kennedy	740.43	1,480.86	Stock
2" Air Release Valve	3	EA	APCO	223.00	669.00	8 Weeks	DeZurik	250.00	750.00	1-2 Weeks	NO BID	NO BID	NO BID	NO BID
Fire Hydrant	3	EA	Mueller	3,177.98	9,533.94	26 Weeks	AFC	3,120.00	9,360.00	Stock to 4 weeks	Kennedy	3,015.00	9,045.00	24 Weeks
20"x16" MJ Tee	2	EA	Sigma/Star	1,233.41	2,466.82	2-4 weeks	Various	1,195.26	2,390.52	Stock to 16 weeks	Star	1,233.00	2,466.00	2-16 weeks
20"x8" MJ Tee	2	EA	Sigma/Star	1,012.94	2,025.88	2-4 weeks	Various	981.61	1,963.22	Stock to 16 weeks	Star	1,012.00	2,024.00	2-16 weeks
20"x16" MJ Reducer	1	EA	Sigma/Star	528.00	528.00	2-4 weeks	Various	511.67	511.67	Stock to 16 weeks	Star	543.00	543.00	2-16 weeks
20"x12" MJ Reducer	1	EA	Sigma/Star	572.00	572.00	2-4 weeks	Various	554.37	554.37	Stock to 16 weeks	Star	572.00	572.00	2-16 weeks
20" MJ 90 Bend	1	EA	Sigma/Star	1,219.83	1,219.83	2-4 weeks	Various	1,182.11	1,182.11	Stock to 16 weeks	Star	1,220.00	1,220.00	2-16 weeks
20" MJ 45 Bend	3	EA	Sigma/Star	795.28	2,385.84	2-4 weeks	Various	770.68	2,312.04	Stock to 16 weeks	Star	794.00	2,382.00	2-16 weeks
20" MJ 22 Bend	1	EA	Sigma/Star	830.86	830.86	2-4 weeks	Various	805.16	805.16	Stock to 16 weeks	Star	826.00	826.00	2-16 weeks
20" MJ 11 Bend	1	EA	Sigma/Star	782.64	782.64	2-4 weeks	Various	758.44	758.44	Stock to 16 weeks	Star	781.00	781.00	2-16 weeks
16" MJ Plug	1	EA	Sigma/Star	362.30	362.30	2-4 weeks	Various	351.10	351.10	Stock to 16 weeks	Star	362.00	362.00	2-16 weeks
16"x10" MJ Tee	2	EA	Sigma/Star	865.49	1,730.98	2-4 weeks	Various	838.73	1,677.46	Stock to 16 weeks	Star	864.00	1,728.00	2-16 weeks
16"x10" MJ Reducer	2	EA	Sigma/Star	346.39	692.78	2-4 weeks	Various	335.67	671.34	Stock to 16 weeks	Star	349.00	698.00	2-16 weeks
12"x8" MJ Tee	3	EA	Sigma/Star	337.49	1,012.47	2-4 weeks	Various	327.06	981.18	Stock to 16 weeks	Star	342.00	1,026.00	2-16 weeks
12"x6" MJ Tee	3	EA	Sigma/Star	293.49	880.47	2-4 weeks	Various	284.42	853.26	Stock to 16 weeks	Star	298.00	894.00	2-16 weeks
12" MJ 45 Bend	4	EA	Sigma/Star	257.45	1,029.80	2-4 weeks	Various	249.49	997.96	Stock to 16 weeks	Star	263.00	1,052.00	2-16 weeks
12" MJ 11 Bend	1	EA	Sigma/Star	211.11	211.11	2-4 weeks	Various	204.58	204.58	Stock to 16 weeks	Star	250.00	250.00	2-16 weeks
12" MJ Plug	3	EA	Sigma/Star	137.62	412.86	2-4 weeks	Various	133.36	400.08	Stock to 16 weeks	Star	143.00	429.00	2-16 weeks
10"x8" MJ Reducer	2	EA	Sigma/Star	120.77	241.54	2-4 weeks	Various	117.03	234.06	Stock to 16 weeks	Star	124.00	248.00	2-16 weeks
10" MJ Cross	1	EA	Sigma/Star	368.86	368.86	2-4 weeks	Various	357.45	357.45	Stock to 16 weeks	Star	369.00	369.00	2-16 weeks
10" MJ 90 Bend	1	EA	Sigma/Star	231.24	231.24	2-4 weeks	Various	224.09	224.09	Stock to 16 weeks	Star	237.00	237.00	2-16 weeks
10" MJ 45 Bend	2	EA	Sigma/Star	172.26	344.52	2-4 weeks	Various	166.93	333.86	Stock to 16 weeks	Star	175.00	350.00	2-16 weeks
10" MJ 22 Bend	6	EA	Sigma/Star	171.79	1,030.74	2-4 weeks	Various	166.48	998.88	Stock to 16 weeks	Star	176.00	1,056.00	2-16 weeks
8" MJ 22 Bend	2	EA	Sigma/Star	116.56	233.12	2-4 weeks	Various	112.95	225.90	Stock to 16 weeks	Star	119.00	238.00	2-16 weeks
8" MJ Plug	2	EA	Sigma/Star	80.05	160.10	2-4 weeks	Various	77.57	155.14	Stock to 16 weeks	Star	82.00	164.00	2-16 weeks
16" Foster Adapter w/ Accessory Kit	1	EA	Star	422.48	422.48	Stock to 4 weeks	Various	442.06	442.06	Stock to 16 weeks	Star	468.00	468.00	2-16 weeks
12" Foster Adapter w/ Accessory Kit	7	EA	Star	227.61	1,593.27	Stock to 4 weeks	Various	231.53	1,620.71	Stock to 16 weeks	Star	222.00	1,554.00	2-16 weeks
8" Foster Adapter w/ Accessory Kit	2	EA	Star	150.86	301.72	Stock to 4 weeks	Various	147.32	294.64	Stock to 16 weeks	Star	146.00	292.00	2-16 weeks
6" Foster Adapter w/ Accessory Kit	3	EA	Star	104.03	312.09	Stock to 4 weeks	Various	99.95	299.85	Stock to 16 weeks	Star	99.00	297.00	2-16 weeks
4" Foster Adapter w/ Accessory Kit	1	EA	Star	83.21	83.21	Stock to 4 weeks	Various	79.95	79.95	Stock to 16 weeks	Star	82.00	82.00	2-16 weeks
20" Mechanical Joint Restraint w/ Accessories	32	EA	Sigma	423.31	13,545.92	4 weeks	Various	350.97	11,231.04	Stock to 16 Weeks	Star	369.00	11,808.00	2-16 weeks
16" Mechanical Joint Restraint w/ Accessories	20	EA	Sigma	248.62	4,972.40	Stock to 4 weeks	Various	212.69	4,253.80	Stock to 16 Weeks	Star	218.00	4,360.00	2-16 weeks

Bid Tabulation - Schedule B

Waterine Construction Materials for the BlueOval SK & KCTCS Waterline Extension Thursday, January 12, 2023, 10:30 am

Base Bid - Import Materials				Co	ore & Main			ı	Hayes Pipe			Fe	rguson	
12" Mechanical Joint Restraint w/ Accessories	45	EA	Sigma	141.26	6,356.70	Stock to 4 weeks	Various	118.54	5,334.30	Stock to 16 Weeks	Star	122.00	5,490.00	2-16 weeks
10" Mechanical Joint Restraint w/ Accessories	37	EA	Sigma	134.60	4,980.20	Stock to 4 weeks	Various	88.20	3,263.40	Stock to 16 Weeks	Star	91.00	3,367.00	2-16 weeks
8" Mechanical Joint Restraint w/ Accessories	17	EA	Sigma	77.30	1,314.10	Stock to 4 weeks	Various	62.02	1,054.34	Stock to 16 Weeks	Star	64.00	1,088.00	2-16 weeks
6" Mechanical Joint Restraint w/ Accessories	9	EA	Sigma	57.30	515.70	Stock to 4 weeks	Various	45.52	409.68	Stock to 16 Weeks	Star	47.00	423.00	2-16 weeks
4" Mechanical Joint Restraint w/ Accessories	10	EA	Sigma	45.77	457.70	Stock to 4 weeks	Various	36.85	368.50	Stock to 16 Weeks	Star	39.00	390.00	2-16 weeks

Base Bid Total - Import Materials Core & Main \$122,861.46 Stock to 26 weeks Hayes Pipe \$112,390.28 16-20 weeks Ferguson \$116,041.86 24 weeks

Alternate A Bid				Co	ore & Main			ŀ	Hayes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" PVC, C900, DR-18	7,900	LF	Dist. Appr.	108.89	860,231.00	4 Weeks	Various	108.91	860,389.00	4-6 weeks	Diamond	110.75	874,925.00	8-12 weeks
12" PVC, C900, DR-18	5,700	LF	Dist. Appr.	44.94	256,158.00	4 Weeks	Various	44.96	256,272.00	4-6 weeks	Diamond	45.60	259,920.00	Stock
10" PVC, C900, DR-18	60	LF	Dist. Appr.	31.92	1,915.20	4 Weeks	Various	31.93	1,915.80	4-6 weeks	Diamond	36.00	2,160.00	Stock
6" PVC, C900, DR-18	40	LF	Dist. Appr.	12.40	496.00	4 Weeks	Various	12.35	494.00	Stock	Diamond	24.00	960.00	Stock
4" PVC, C900, DR-18	40	LF	Dist. Appr.	6.07	242.80	4 Weeks	Various	6.04	241.60	Stock	Diamond	14.00	560.00	Stock

Total Alernate A Bid Core & Main \$1,119,043.00 4 weeks Hayes Pipe \$1,119,312.40 4-6 weeks Ferguson \$1,138,525.00 8-12 weeks

Total Project Schedule B = Base Bid + Alternate A = Core & Main \$1,241,904.46 Hayes Pipe \$1,231,702.68 Ferguson \$1,254,566.86

Total Project Schedule B Lead Time with Alernate A = Core & Main Stock to 26 weeks Hayes Pipe 16-20 weeks Ferguson 24 weeks

Alternate B Bid				Co	ore & Main			ŀ	layes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" Ductile Iron Pipe, Class 250	7,900	LF	US Pipe	95.43	753,897.00	7-8 Months	US Pipe	96.33	761,007.00	7 Months	McWane	101.00	797,900.00	20-40 weeks
12" Ductile Iron Pipe, Class 250	5,700	LF	US Pipe	48.45	276,165.00	7-8 Months	US Pipe	51.63	294,291.00	52 weeks	McWane	51.00	290,700.00	20-40 weeks
10" Ductile Iron Pipe, Class 250	60	LF	US Pipe	40.47	2,428.20	7-8 Months	US Pipe	43.13	2,587.80	Stock to 24 weeks	McWane	40.00	2,400.00	20-40 weeks
6" Ductile Iron Pipe, Class 250	40	LF	US Pipe	24.00	960.00	7-8 Months	US Pipe	25.58	1,023.20	Stock to 12 weeks	McWane	25.50	1,020.00	20-40 weeks
4" Ductile Iron Pipe, Class 250	40	LF	US Pipe	35.24	1,409.60	7-8 Months	US Pipe	37.59	1,503.60	24-32 weeks	McWane	37.00	1,480.00	20-40 weeks

Total Alternate B Bid Core & Main 1,034,859.80 Hayes Pipe 1,060,412.60 Ferguson 1,093,500.00

Total Project Schedule B = Base Bid + Alternate B = Core & Main \$1,157,721.26 Hayes Pipe \$1,172,802.88 Ferguson \$1,209,541.86

Total Project Schedule B Lead Time with Alernate B = Core & Main 28-32 weeks Hayes Pipe 52 weeks Ferguson 20-40 weeks

Bid Tabulation - Schedule C

Waterine Construction Materials for the BlueOval SK & KCTCS Waterline Extension Thursday, January 12, 2023, 10:30 am

Base Bid - US Domestic (AIS) Materials				Cor	e & Main			Н	ayes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" Butterfly Valve, MJ	2	EA	Mueller	7,933.32	15,866.64	12-14 weeks	Various	8,327.84	16,655.68	24-30 weeks	MH	7,800.00	15,600.00	10-24 weeks
16" Butterfly Valve, MJ	3	EA	Mueller	4,863.36	14,590.08	12-14 weeks	Various	5,109.28	15,327.84	24-30 weeks	MH	6,000.00	18,000.00	10-24 weeks
12" Gate Valve, MJ	8	EA	Mueller	2,828.39	22,627.12	Stock to 26	AFC	2,850.00	22,800.00	Stock to 4 weeks	Kennedy	3,400.00	27,200.00	2-20 weeks
8" Gate Valve, MJ	4	EA	Mueller	1,433.59	5,734.36	Stock to 26	AFC	1,440.00	5,760.00	Stock to 4 weeks	Kennedy	1,700.00	6,800.00	Stock
6" Gate Valve, MJ	3	EA	Mueller	899.56	2,698.68	Stock to 26	AFC	905.00	2,715.00	Stock to 4 weeks	Kennedy	1,200.00	3,600.00	Stock
4" Gate Valve, MJ	1	EA	Mueller	705.69	705.69	Stock to 26	AFC	709.00	709.00	Stock to 4 weeks	Kennedy	1,000.00	1,000.00	Stock
4" Tapping Valve	2	EA	Mueller	890.28	1,780.56	Stock to 26	AFC	890.00	1,780.00	Stock to 4 weeks	Kennedy	1,200.00	2,400.00	Stock
4" x 4" Tapping Sleeve	2	EA	Romac	648.97	1,297.94	2 weeks	Ford	575.00	1,150.00	2 weeks	Ford	740.43	1,480.86	1-2 weeks
2" Air Release Valve	3	EA	APCO	589.00	1,767.00	18-20 weeks	DeZurik	575.00	1,725.00	18-20 weeks	NO BID	NO BID	NO BID	NO BID
Fire Hydrant	3	EA	Mueller	3,177.98	9,533.94	26 weeks	AFC	3,120.00	9,360.00	Stock to 4 weeks	Kennedy	4,000.00	12,000.00	24 weeks
20"x16" MJ Tee	2	EA	Sigma/Star	3,224.36	6,448.72	2-4 weeks	Various	3,124.63	6,249.26	Stock to 16 weeks	Star	3,242.00	6,484.00	8-20 weeks
20"x8" MJ Tee	2	EA	Sigma/Star	2,005.81	4,011.62	2-4 weeks	Various	1,943.77	3,887.54	Stock to 16 weeks	Star	2,017.00	4,034.00	8-20 weeks
20"x16" MJ Reducer	1	EA	Sigma/Star	1,172.91	1,172.91	2-4 weeks	Various	1,136.63	1,136.63	Stock to 16 weeks	Star	1,179.00	1,179.00	8-20 weeks
20"x12" MJ Reducer	1	EA	Sigma/Star	1,080.11	1,080.11	2-4 weeks	Various	1,046.71	1,046.71	Stock to 16 weeks	Star	1,086.00	1,086.00	8-20 weeks
20" MJ 90 Bend	1	EA	Sigma/Star	2,256.06	2,256.06	2-4 weeks	Various	2,186.28	2,186.28	Stock to 16 weeks	Star	2,268.00	2,268.00	8-20 weeks
20" MJ 45 Bend	3	EA	Sigma/Star	1,477.16	4,431.48	2-4 weeks	Various	1,431.48	4,294.44	Stock to 16 weeks	Star	1,485.00	4,455.00	8-20 weeks
20" MJ 22 Bend	1	EA	Sigma/Star	1,567.69	1,567.69	2-4 weeks	Various	1,519.20	1,519.20	Stock to 16 weeks	Star	1,576.00	1,576.00	8-20 weeks
20" MJ 11 Bend	1	EA	Sigma/Star	1,544.10	1,544.10	2-4 weeks	Various	1,496.34	1,496.34	Stock to 16 weeks	Star	1,552.00	1,552.00	8-20 weeks
16" MJ Plug	1	EA	Sigma/Star	683.06	683.06	2-4 weeks	Various	661.93	661.93	Stock to 16 weeks	Star	686.00	686.00	8-20 weeks
16"x10" MJ Tee	2	EA	Sigma/Star	1,353.19	2,706.38	2-4 weeks	Various	1,311.33	2,622.66	Stock to 16 weeks	Star	1,360.00	2,720.00	8-20 weeks
16"x10" MJ Reducer	2	EA	Sigma/Star	676.97	1,353.94	2-4 weeks	Various	656.03	1,312.06	Stock to 16 weeks	Star	680.00	1,360.00	8-20 weeks
12"x8" MJ Tee	3	EA	Sigma/Star	527.89	1,583.67	2-4 weeks	Various	511.56	1,534.68	Stock to 16 weeks	Star	530.00	1,590.00	8-20 weeks
12"x6" MJ Tee	3	EA	Sigma/Star	499.75	1,499.25	2-4 weeks	Various	484.29	1,452.87	Stock to 16 weeks	Star	502.00	1,506.00	2-16 weeks
12" MJ 45 Bend	4	EA	Sigma/Star	429.77	1,719.08	2-4 weeks	Various	416.48	1,665.92	Stock to 16 weeks	Star	432.00	1,728.00	2-16 weeks
12" MJ 11 Bend	1	EA	Sigma/Star	346.10	346.10	2-4 weeks	Various	335.40	335.40	Stock to 16 weeks	Star	348.00	348.00	2-16 weeks
12" MJ Plug	3	EA	Sigma/Star	263.19	789.57	2-4 weeks	Various	255.05	765.15	Stock to 16 weeks	Star	264.00	792.00	2-16 weeks
10"x8" MJ Reducer	2	EA	Sigma/Star	199.29	398.58	2-4 weeks	Various	193.13	386.26	Stock to 16 weeks	Star	200.00	400.00	2-16 weeks
10" MJ Cross	1	EA	Sigma/Star	652.63	652.63	2-4 weeks	Various	632.45	632.45	Stock to 16 weeks	Star	656.00	656.00	2-16 weeks
10" MJ 90 Bend	1	EA	Sigma/Star	374.24	374.24	2-4 weeks	Various	362.66	362.66	Stock to 16 weeks	Star	376.00	376.00	2-16 weeks
10" MJ 45 Bend	2	EA	Sigma/Star	248.74	497.48	2-4 weeks	Various	241.05	482.10	Stock to 16 weeks	Star	250.00	500.00	2-16 weeks
10" MJ 22 Bend	6	EA	Sigma/Star	240.37	1,442.22	2-4 weeks	Various	232.93	1,397.58	Stock to 16 weeks	Star	241.00	1,446.00	2-16 weeks
8" MJ 22 Bend	2	EA	Sigma/Star	168.87	337.74	2-4 weeks	Various	163.64	327.28	Stock to 16 weeks	Star	169.00	338.00	2-16 weeks
8" MJ Plug	2	EA	Sigma/Star	126.27	252.54	2-4 weeks	Various	122.36	244.72	Stock to 16 weeks	Star	127.00	254.00	2-16 weeks
16" Foster Adapter w/ Accessory Kit	1	EA	Infact	466.98	466.98	Stock to 2 weeks	Various	442.06	442.06	Stock to 16 weeks	Star	544.00	544.00	2-16 weeks
12" Foster Adapter w/ Accessory Kit	7	EA	Infact	247.20	1,730.40	Stock to 2 weeks	Various	231.53	1,620.71	Stock to 16 weeks	Star	258.00	1,806.00	2-16 weeks
8" Foster Adapter w/ Accessory Kit	2	EA	Infact	159.29	318.58	Stock to 2 weeks	Various	147.32	294.64	Stock to 16 weeks	Star	178.00	356.00	2-16 weeks
6" Foster Adapter w/ Accessory Kit	3	EA	Infact	109.84	329.52	Stock to 2 weeks	Various	99.95	299.85	Stock to 16 weeks	Star	122.00	366.00	2-16 weeks
4" Foster Adapter w/ Accessory Kit	1	EA	Infact	87.86	87.86	Stock to 2 weeks	Various	79.95	79.95	Stock to 16 weeks	Star	99.00	99.00	2-16 weeks
20" Mechanical Joint Restraint w/ Accessories	32	EA	EBAA	426.74	13,655.68	4-6 weeks	Various	405.34	12,970.88	Stock to 16 weeks	Star	410.00	13,120.00	2-16 weeks
16" Mechanical Joint Restraint w/ Accessories	20	EA	EBAA	248.62	4,972.40	4-6 weeks	Various	249.84	4,996.80	Stock to 16 weeks	Star	258.00	5,160.00	2-16 weeks

Bid Tabulation - Schedule C

Waterine Construction Materials for the BlueOval SK & KCTCS Waterline Extension Thursday, January 12, 2023, 10:30 am

Base Bid - US Domestic (AIS) Materials				Co	ore & Main			!	Hayes Pipe			Fer	guson	
12" Mechanical Joint Restraint w/ Accessories	45	EA	EBAA	150.48	6,771.60	Stock to 2 weeks	Various	148.59	6,686.55	Stock to 16 weeks	Star	155.00	6,975.00	2-16 weeks
10" Mechanical Joint Restraint w/ Accessories	37	EA	EBAA	142.97	5,289.89	Stock to 2 weeks	Various	112.43	4,159.91	Stock to 16 weeks	Star	117.00	4,329.00	2-16 weeks
8" Mechanical Joint Restraint w/ Accessories	17	EA	EBAA	84.18	1,431.06	Stock to 2 weeks	Various	77.68	1,320.56	Stock to 16 weeks	Star	81.00	1,377.00	2-16 weeks
6" Mechanical Joint Restraint w/ Accessories	9	EA	EBAA	62.85	565.65	Stock to 2 weeks	Various	58.94	530.46	Stock to 16 weeks	Star	62.00	558.00	2-16 weeks
4" Mechanical Joint Restraint w/ Accessories	10	EA	EBAA	49.28	492.80	Stock to 2 weeks	Various	46.76	467.60	Stock to 16 weeks	Star	48.00	480.00	2-16 weeks

 Base Bid Total - US Domestic (AIS)
 Core & Main
 \$149,863.60
 26 weeks
 Hayes Pipe
 \$147,852.61
 24-30 weeks
 Ferguson
 \$160,584.86
 24 weeks

Best Evaluated Base Bid Total per Vendor Core & Main \$103,718.31 12-14 weeks Hayes Pipe \$45,999.00 18-20 weeks

Best Evaluated Base Bid Total

\$149,717.31

Alternate A Bid				Co	ore & Main				Hayes Pipe			Fer	guson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" PVC, C900, DR-18	7,900	LF	Dist. Appr.	108.89	860,231.00	4 weeks	Various	108.91	860,389.00	4-6 weeks	Diamond	110.75	874,925.00	6-12 weeks
12" PVC, C900, DR-18	5,700	LF	Dist. Appr.	44.94	256,158.00	4 weeks	Various	44.96	256,272.00	4-6 weeks	Diamond	45.60	259,920.00	Stock
10" PVC, C900, DR-18	60	LF	Dist. Appr.	31.92	1,915.20	4 weeks	Various	31.93	1,915.80	4-6 weeks	Diamond	36.00	2,160.00	Stock
6" PVC, C900, DR-18	40	LF	Dist. Appr.	12.40	496.00	4 weeks	Various	12.35	494.00	Stock	Diamond	24.00	960.00	Stock
4" PVC, C900, DR-18	40	LF	Dist. Appr.	6.07	242.80	4 weeks	Various	6.04	241.60	Stock	Diamond	14.00	560.00	Stock
Total Alternate A Bid			Core & N	Main	\$1,119,043.00	4 weeks	Hayes F	Pipe	\$1,119,312.40	4-6 weeks	Fergus	on	\$1,138,525.00	6-12 weeks
Total Schedule C = Base Bid Total + Alternate A =	=				\$1,268,906.60	26 weeks			\$1,267,165.01	24-30 weeks			\$1,299,109.86	24 weeks

Total Schedule C Best Evaulated

\$1,268,760.31

1,034,859.80

Core & Main

(Best Evaluated Base Bid Total + Best Evaluated Alternate A)

Total Alternate B Bid

Alternate B Bid				Co	ore & Main			!	Hayes Pipe			Fe	rguson	
Item Description	Quantity	Unit	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery	Manufacturer	Unit Price	Total	Est. Delivery
20" Ductile Iron Pipe, Class 250	7,900	LF	US Pipe	95.43	753,897.00	7-8 months	US Pipe	96.33	761,007.00	7 months	McWane	101.00	797,900.00	20-40 weeks
12" Ductile Iron Pipe, Class 250	5,700	LF	US Pipe	48.45	276,165.00	7-8 months	US Pipe	51.63	294,291.00	52 weeks	McWane	51.00	290,700.00	20-40 weeks
10" Ductile Iron Pipe, Class 250	60	LF	US Pipe	40.47	2,428.20	7-8 months	US Pipe	43.13	2,587.80	Stock to 24 weeks	McWane	40.00	2,400.00	20-40 weeks
6" Ductile Iron Pipe, Class 250	40	LF	US Pipe	24.00	960.00	7-8 months	US Pipe	25.58	1,023.20	Stock to 12 weeks	McWane	25.50	1,020.00	20-40 weeks
4" Ductile Iron Pipe, Class 250	40	LF	US Pipe	35.24	1,409.60	7-8 months	US Pipe	37.59	1,503.60	24-32 weeks	McWane	37.00	1,480.00	20-40 weeks

Hayes Pipe

1,060,412.60

52 weeks

Ferguson

1,093,500.00 20-40 weeks

Total Project Schedule C = Base Bid + Alternate B = Core & Main \$1,138,578.11 Hayes Pipe \$1,106,411.60 Ferguson \$1,093,500.00

Total Project Schedule C Lead Time with Alernate B = Core & Main 28-32 weeks Hayes Pipe 52 weeks Ferguson 20-40 weeks

7-8 months